Vy=—4mhvy E271 BAELELTAI—AT-RAKXKE-MEERER

2 [|] B 2 [|] B
15 W 6 ERE 4 = &b 6 1 3% WL
‘6(;)7‘ (6 — 3)
BE-k#H&o{4—6 2P -HE HF -=Z82{6—-1,0K TF - @&
(6 — 4) (1 —6)

A# - B2<6—0-08H JIl - F BB FTEO<{3—6%2# # - 1k
f7_5\ f6_2\
EE-M@Eo0<6—4p,2% B - )\ K #H-NE26—1,0BBEI- XK
2 - 1 2 - 1

2 [|] B 2 [|] B
7TE W 9 & | nNaARI 2% ®
(4 —6) (6 — 3)

b Jil - B 0<0—6%2 & - & & WMHA-fF27—508 &K -7 2
(4—6) (6 —0)
EFH-BIBHONIS5—7T 2% -2 % EE-mH2<6—2>08 X - JIl B
>3—6‘ (6 — 1)

B H-AHBHO0<{1—6r2Ei0 - X % € F-mBE2<6—4,0M 1u-&HE
0 - 3 3 - 0

2 [|] B 2 [|] B

13F = B = | 17FH 18 % &
7(3—)6 (6 — 2

B A - A#M1<5—7524 8 - B &K H3-xTWwi1il{4—s6l28K-M A
L0 —6 5—7
’7@6 (5—7

HEH-Bh2(6—4;0BF-FTFHBM ﬁ*ﬁ-’h‘JIIOH—s}zEE-:’r&*
(1—6 (0—6

W E - F17—5,2018 I8 - £ B HBrd-f#BEO0LK5—7p2F H -3
(4 — 6 L —




Vy=—4mhvy E271 ALELTA—AT-RAKXKE-MEERER

2 [|] B} 2 [|] B
194 K 21% 1| 3 ¥ 248 B
(0—6 (6 —1
m-ﬁ-iiiiow—s}z#-d\ﬁﬁ Eiﬁ-ﬁ$¢2<6—4}0m§-"'l=
(4 — 6 ’6(—2)7
ﬁtﬂi-imﬂiow—s}zwﬁ-ﬁaﬁﬂi Ei?ﬁ-ilﬁ0<5—7}23ii-ﬁ"
(2 — 6 (1— 6
XH-BHO0OS1—6,2TFHN-BHE EH-BEMHKi1<6—2rp2XK B =
- 2—6
0 - 3 1 - 2
2 [|] B 2 [|] B
25 F = 26 = 2} 29 & B 30 & B
(7—5 (3—6
%E-E%zw—s}oﬁ%-m;ﬁ EIWEE'*E*O<4—6}2¢' #t =
(6 — 4 (6 — 1
Fﬁlll-jc"2<6—4}09553-51"—1ﬁ‘2 %ﬁi-ﬁﬁz<6—1}oﬁﬂ-lﬂ5$
;6—1 (7—5
ﬁ#ﬁ-lﬁlﬁz<5—7}1§iﬁt-ﬂjn EH-KAKT2<3—6p 18 XTI
16— 1 (7—6
@
3 - 0 2 - 1
2 [|] B} 2 [|] B}
31HE K 33 18 H 34K B 36 A8 &
(6 —0 (7—5
Elﬂﬁ-jctljzw—z}oﬁﬂi-imiﬁ‘i *Em-ll\i;ik‘ZHa)G}oﬁJ:-%H
(6 —3 (6— 3
Z#H-##E2\y7-57/0% R 3| Fﬁ*ﬁ-ifi*zm—z}o&ﬁ-ﬁlﬁ%
(7—5 (6 — 4
€ F-BEXRK2<6—2,0K F - #& %k 2H-dhH2<3—611"F-&% H
- (6 — 2
3 - 0 3 - 0




Vy=—4mhvy E271 AEELTAI—AT-RAKXKE-MEERER

2 [|] B 2 [|] B

37 B 38 U | 490&E [E ME F
(3—6 (6 —3

%‘H-EEO<5—7}2£%-£$ %‘%?i-ék%zn—s}od\ﬂi%-wx
(3— 6 (6 — 1

%H-Eﬂiow—s}ziﬁ#-/\* 'J‘iﬂ'%i2<6—1}05§#'i!i*ﬁ
(7—5 (6 — 1

BME-WAXx2<6—4,08 & - @O A -#FH2<6—0,0% F - &
1 - 2 3 - 0

2 [|] B} 2 [|] B}

2K % 4310 B | 46E IS 1% M@
(6 —0 (2 —6

i&ﬁ-:ll:ﬁzw—s}oifix-ﬁﬁ %E-*ﬁu.lOH—s}zEJll-%H
(6 — 4 (5 — 7

MHE- -kE&1/(5—72K@E-E H =B -1l TFTo0<4—652F E - & K
2—6 . —

(6 —4 [6—2
rB-BBBOS5—7y2H FE - & K LT -FKRK11—62KTFT - H#H
(4—6 (2—6
1 - 2 0 - 3




